

### Solving Linear Systems Using Substitution

Now let's return to the earlier linear system:

$$y = 3x - 7$$

$$y = -x + 5$$

Substituting 3x - 7 for the y in the second equation gives the following new equation:

3x - 7 = -x + 5

Notice how the *y* variable has disappeared completely, leaving us with only one unknown for which we can solve.

3x - 7 = -x + 54x = 12x = 3

J. Garvin — Solving Linear Systems Slide 5/15

#### Solving Linear Systems Using Substitution

We now know that the solution to the linear system occurs when x = 3, but what about the value of y?

Use either of the two equations (whichever is easiest) to solve for y when x = 3.

$$y = 3x - 7$$
$$y = 3(3) - 7$$
$$y = 2$$

Therefore, the solution to the linear system is x = 3 and y = 2.

The point of intersection of the two lines is (3, 2).

J. Garvin — Solving Linear Systems Slide 6/15

#### Solving Linear Systems Using Substitution

To check if our solution is correct, substitute either x or y into the *other* equation and see if produces the same value.

It is important to use the other equation, since any errors introduced by solving in the first equation are less likely to be replicated in the second.

y = -x + 5y = -(3) + 5y = 2

Since we obtain the same value for y, our solution is probably correct.

J. Garvin — Solving Linear Systems Slide 7/15

# Solving Linear Systems Using Substitution

Solve the linear system y = 5x - 11 and y = 3x + 17.

Substitute 5x - 11 for y in the second equation.

$$5x - 11 = 3x + 17$$
$$2x = 28$$
$$x = 14$$

Substitute x = 14 into the second equation.

y = 3(14) + 17y = 42 + 17y = 59

Solving Linear Systems Using Substitution

Solve the linear system y = 2x + 5 and y = -4x + 12.

2x + 5 = -4x + 12

6*x* = 7

 $x = \frac{7}{6}$ 

 $y = 2\left(\frac{7}{6}\right) + 5$ 

 $y = \frac{7}{3} + 5$  $y = \frac{22}{3}$ 

Substitute 2x + 5 for y in the second equation.

Substitute  $x = \frac{7}{6}$  into the first equation.

J. Garvin — Solving Linear Systems Slide 8/15

Example

Example

## Solving Linear Systems Using Substitution

The solution appears to be x = 14 and y = 59. Let's check the first equation to be sure.

y = 5(14) - 11y = 70 - 11y = 59

Thus, the solution to the linear system is x = 14 and y = 59. Note that while it would be possible to solve this system by graphing, the value of y is fairly large and may not easily fit onto an accurate graph.

J. Garvin — Solving Linear Systems Slide 9/15

### Solving Linear Systems Using Substitution

The solution appears to be  $x = \frac{7}{6}$  and  $y = \frac{22}{3}$ . Check using the second equation.

$$y = -4\left(\frac{7}{6}\right) + 12$$
$$y = -\frac{14}{3} + 12$$
$$y = \frac{22}{3}$$

Thus, the solution to the linear system is  $x = \frac{7}{6}$  and  $y = \frac{22}{3}$ . In this case, the values of x and y would be difficult to read accurately from a graph, so the algebraic approach is better suited.

J. Garvin — Solving Linear Systems Slide 11/15

### Solving Linear Systems Using Substitution

# Example

J. Garvin — Solving Linear Systems Slide 10/15

Solve the linear system y = 7x + 3 and y = 7x - 8.

Substitute 7x + 3 for y in the second equation.

$$7x + 3 = 7x - 8$$
$$0 = 11$$

The result does not make any sense. This is because the two lines are parallel (same slope), but not coincident (different *y*-intercepts).

Therefore, there are no solutions to this linear system. Remember to check!

J. Garvin — Solving Linear System Slide 12/15 Solving Linear Systems Using Substitution Example Solve the linear system  $y = -\frac{1}{3}x - \frac{1}{2}$  and  $y = \frac{1}{6}x - \frac{9}{4}$ . Substitute  $-\frac{1}{3}x - \frac{1}{2}$  for y in the second equation.  $-\frac{1}{3}x - \frac{1}{2} = \frac{1}{6}x - \frac{9}{4}$ Find a common denominator for all terms.  $-\frac{4}{12}x - \frac{6}{12} = \frac{2}{12}x - \frac{27}{12}$ Multiply both sides of the equation by 12 to cancel the denominator, then solve for x. -4x - 6 = 2x - 27 6x = 21 $x = \frac{7}{2}$ 

J. Garvin — Solving Linear Systems Slide 13/15



Solving Linear Systems Using Substitution

LINEAR SYSTEM

Substitute  $x = \frac{7}{2}$  into the first equation.

$$y = -\frac{1}{3} \left(\frac{7}{2}\right) - \frac{1}{2}$$
$$y = -\frac{7}{6} - \frac{1}{2}$$
$$y = -\frac{5}{3}$$

Check using the second equation.

$$y = \frac{1}{6} \left(\frac{7}{2}\right) - \frac{9}{4}$$
$$y = \frac{7}{12} - \frac{9}{4}$$
$$y = -\frac{5}{3}$$

Therefore, the solution is  $x = \frac{7}{2}$  and  $y = -\frac{5}{3}$ .

J. Garvin — Solving Linear Systems Slide 14/15